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Parking garage 1, CO,
1DD =3.1-4.9 km
1Time: 18:12-18:25 UTC

—»—QObserved, h=1230 m
Observed, h=920m
——Observed, h=590 m
=== Modeled, h=590 m
——Observed, h=440m
=== Modeled, h=440 m
——QObserved, h=290m
=== Modeled, h=290 m

——Observed, h=900 m
-== Modeled, h=900 m
——Observed, h=440 m
-== Modeled, h=440m
——OQObserved, h=130m
=== Modeled, h=130m

Crosswind distance (km)

-3 -2 -1 0 1
Crosswind distance (km)
Parking garage 2, CO, (b)
|1 DD =6.3-7.8 km
{ Time: 19:23-19:33 UTC
-3 -2 -1 0 1
Crosswind distance (km)
Parking garage 3, CO, (c)
1DD =3.1-4.9 km
1Time: 20:00-20:11 UTC
-3 -2 -1 0 1

Observed, h=740 m

Modeled, h =740 m
—(QObserved, h =600 m
=== Modeled, h=600 m
——(QObserved, h =450 m
=== Modeled, h=450m
——QObserved, h=280 m
=== Modeled, h=280 m




